Ao Sen
1% el 5713,

=g,

e
-

-

ul

‘_._mo
~
o

ke

ul

N

o]

o

M
wA .
W

AL
N 9
© 2 ‘_._mo
BN
mo =3 Am
E._ oM e
o [\
T 0 ny
T < o
E.:._ &S UE
o S olJ
PO
o| = o1
T ol T =
T B
o) o) I- O
T T
TN o BT
mul =g




%
el
1n

or
e
L

,_._mo
~

e

ul
KO




u}

A

o

7}
t}

AP 17,

3

e

o,

AR ol

ol o] QU

-

ul

JAY

ul

e

ul

FArHS 171, }

b

A 5K,

T
ay
o o o
% ~
T Yo Am
W 5 ok
127
O ~
~ s -
N m
T o
~ i ~
r~ ,W_u —
ol B
”—/H
~
ﬂNO

=3¢




® A4t

@ g

T
A,

@ 34




<H7|> 9] Bof 27} F 2717 RFOR AT TP AA ALgstol
o gt "Wagh moF 27kt 1 A4S 2ut2 )

@@E‘%}iﬂ: 270, @ BoF 27} 2 7)
@ QORFZZ: 2 6 BF 22 47

d

® O RFEZ:2M, 6 2 xZ: 27
@ @ R2F =z 2, @ ReF 27 2 7

® ORFxZ:2M 0 2F X7 4




B
L

-

ul

A




o
!
. ﬂ_l
o T
,HA._|| ojl
1o H_ﬂ_
i i
~ s
b i
e v
o o
i R
o s
rx A
A k-
oju o
w o8
2 0 b 5
5 &
o o _u/u_um o .
B X oI
B =
L I T D
O._ _u_H_ ._”_.H_ mmo __OH
ol %0
oo A A A







B
N

15

@ A1

@ "ER

=
=

90°, 120° = 360°

ol 252 e Lol Wojxna ul




~,
_,AO
~
_,AO
(]
—
i
A A
JAN




¥

4y Hgom o8 F 28 2F

FU71?

ol dg

™
=

16 %

e

ul




N BagA] A= 24 L,

N\

/
\

/




I

13. <27]> 9 B 2748 744 A7 Agste] 2ol £@L go
Z

T AT RO 2712 o AR

<H7|>

/N /57 [
[\ &y ()

va.0 Dee 006 ©06 6060

3
N




14.
mof £
A5 o
sfed & a
o so .
zxﬂLytﬂ Al 7
N }Zl
F 2

o

o

0%
L
©

V
\Y
\VARR 4
X v
i :
D

0%
L
®




—

oz B

1=]
AL

d

370 olge] 4




ol

B
-
1l

ﬂ_mo




17. wiztAe] 47t 713

,_._mo
N
~3
,_.,_mo
©
™
]
"o
Q@ ©
B B
NN
% of

—







19. & o)A st tjzrAo] thE o

[e)
ofd AL 12X Q.

@nrarz

@ U]—%E @ ] }\]_7]_

R\ 7







WA A A7

=
=

= AAL

SHA 2.

A T

she

—~
g
3}
S~—
=
Il
<t
\m/ ._.
S
~—
o |
N~
II o
o N
X ar
— T
I )

Ake] Ze)
vas




5
NF <

N 5

il

T

L

N| o

ol

e

Nl w

o

B8O

ﬁ_- ™

—_—

)A

| T2
~— N

C\# 7~I/(\
BA

77

ul
]

i

>

12748 =35(7H)

1713

44 4+ 10 = 54(7N)
: 54+ 11 =65(7})
165+ 12 =T77(7N)

7

o]
SR

1

|

A2

77(70)

14x (14-3)+2




Folzl £ o] th2rilo] 48 B Aol Zd o el A4S
oA L.
IR IR R | B R BRI R iR
LR . 5 9 14 20
M=)

B 4l

>
> = 54

=4 [34a8)deaa)3sa9]9a49)943

R ) 5 9 14 20

u DA A .
+4 +5 +6

A7 20+ 7 =27 ()
Az 1 27+ 8 =35 (H)
AALZY : 35 +9 =44 (M)
AAolZtad 1 44+ 10 =54 (7N)

qo123
FR2) (FHo1AR Y] o] g)=12 x (12 - 3) + 2 = 54




24. ga2 oW =gl tieh A FhA 2.

ok B wle] Zol7h 24y
o3k o] o7 24 gyt

% vzt dols} 2y

5 thzbalo] M2 ThE Z1E who2 Wiyt
Yl zte] 2717} 24t

> E.
> HE: A%

15

N
ofl

d




ol7} &yt
o] 4] 0 & ghgc}

o Zol7}

N

Blel

Bl

Ut

5
| 42 T AL He s Wil

]
T T

1
T

74,
T

Z4;

Z
Z
Z

o
o
o

o ok Bk




